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ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)

1. What is the total energy of the discrete time signal x(n)
which takes the value of unity at n=-1, 0 and 1?
2. Draw the wave form x(-f)and x(1+r)of the Signal
1,0<1 <3
x(t) = J ?
[0,>3

t

3. Determine the convolution integral when fi(t)= e™% and

fat)= e 2.

4.  Find the impulse response for the causal system
y(m) -y(n-1)=x(n) + x@ - 1).

5.  Draw the basic butterfly diagram for radix 2 DIT — FIT
and DIF — FFT.

6.  State any two DFT properties.

7. What is warping Effect?
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Write the transformation equation to convert a |
transfer function into a HPF?

Compare FIR and IIR filters.

What is signal to noise ratio?

(@)

(b

(@)

PART—B (5x16=80 marks)

() Check whether or not the given system is
linear, time invariant. causal, memoryless

and stable. y(¢) = x{(r}cos/{100a7).

(i) Determine the energy and power of the |

signal f(t)= e~3*

Or

(i) Fxplain the provess of sampling and

quantization.

(i) Explain analog to digital conversion and {

aliasing effect.

The input to a causal linear time invariant (

system is

x(n) =u(—n—1+ (%J 2¢(#1) the

Z-transform of the system is

VIZ"

Y(@Z) = _——2
(- zz")([ +Z7)

. Determine H(Z), the

Z-transform of the impulse response and also

determine the output y(n).
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Or
(i)  State the properties of Z-transform
(1) State the properties of fourier transform

Compute the 8 point DFT of the sequence

n+1, 0<n<7 -
x(n) = { 0 othermics  using DIT - FFT
algorithm.

Or

(i) Determine the four point DFT of the
signal
x{n)=1{1,1,1,1}.

(i) By means of DFT and IDFT, determine
the sequence x (1) corresponding to the

civeular convolution of the sequence x; ()
and x,(n) given by x,(n)={2,1, 21},
xy(n)=11, 2, 3,4},

Design « Butterworth LPF which has following
specification using  Impulse Invariant
Transformation.

VEs|H(eM)| <1, 0<w<05m |H(eW)| <
0.2, 3nfd<wsnm

Or

The desired response of a low pass filter is

s B
Hd(e/‘”) = {e 0 " e“lse‘ °s 4}
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[image: image4.png]Determine H(e™) for M= 7 using Hamming
window.

(a) Explain the coefficient quantization effects in (1
digital filters.

Or

(b) Explain in detail the architecture of (1
TMS320C54 signal processing chip.
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